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Reading comprehension:
Subhash Chandra Bose was born on 23 January,
1897, at Cuttack in Orissa. He was the sixth son of
Janakinath and Prabhavati Bose. He participated
in the freedom movement along with 'Deshbandhu'
C.R. Das. He was thrown into jail but that only made
him more determined. Subhash joined the Congress
party and rose to its Presidentship in 1938, a post
he held for 2 years. In 1939, when the Second World
War started Gandhiji and other leaders were against
doing anything anti-British. But Subhash Chandra
Bose thought differently. He knew, for instance, that
the fall of the Roman Empire had led to the freedom
of its colonies. He decided to seek foreign help for
his cause of freeing India.

1. In which state Subhash Chandra Bose was born?
(A) Bengal
(B) Orissa
(C) Maharashtra
(D) Uttar Pradesh
(E) None of these

2. Who was Subhash Chandra Bose?
(A) A freedom fighter
(B) A politician
(C) A civil servant
(D) A social worker
(E) None of these

Direction: Question 3 is based on analogy:

3. Court : Justice : : School : ?
(A) Teacher (B) Student
(C) Ignorance (D) Education
(E) None of these

Direction: Arrange the jumbled words to make a
meaningful sentence:

4. will/ again/ apologize/ never/ he/ I/ here/ If/
him/ not/ invite
(A) If he doesn’t apologize, I will invite him

never here again.
(B) If he doesn’t apologize, I will never invite

him here again.
(C) I will never invite him here again, he

doesn’t apologize if.
(D) All of these
(E) None of these

Direction: Question 5 is based on Pronoun:

5. Identify the kind of pronoun the underline
word has.
The watch kept on the table is yours.
(A) Possessive Pronoun
(B) Demonstrative Pronoun
(C) Reflexive Pronoun
(D) Interrogative Pronoun
(E) None of these
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Direction: In question 6, fill in the blank with suitable
preposition:

6. She has been dancing_______three hours.
(A) To
(B) For
(C) At
(D) From
(E) None of these

7. Which one of the following options joins the
two given sentences correctly?
The boys were unhappy with their results. The
girls were also unhappy with theirs.
(A) Neither the boys nor the girls were happy

with their results.
(B) Both boys, girls were unhappy about the

result.
(C) Boys and girls were unhappy with the

results.
(D) All of these
(E) None of these

Direction: In question 8, a grammatically incorrect
sentence is given. Find the correct sentence from the
options given below:

8. He will have reach there.
(A) He will have reaching there.
(B) He will have reaches there.
(C) He will have reached there.
(D) All of these
(E) None of these

Direction: In question 9, fill in the blank with correct
form of verb:

9. She_____first in the class last year.
(A) Stand (B) Stood
(C) Will stand (D) All of these
(E) None of these

10. Given below are the sentences in jumbled
form. Rearrange them to make a meaningful
paragraph.
1. The language has made an invaluable

contribution towards the unification of
our country. Today, it has become an
integral part in every section of society,
be it government, media or education.

2. English is one of the most widely spoken
languages across the world. In India, it
was   introduced by Lord Bentinck and
was supported by many eminent
personalities and social reformers.

3. It is taught in public as well as in
government schools. English is must for
the Indians aspiring for higher education
or seeking better job opportunities. It is
very much a part of communication in
urban society.

4. Though some people in India are against
the usage of English, yet it is considered
as a passport for a secure future.

(A) 2, 1, 4, 3 (B) 4, 1, 2, 3
(C) 2, 1, 3, 4 (D) 4, 1, 3, 2
(E) None of these

1. (B) 2. (A) 3. (D) 4. (B) 5. (A) 6. (B) 7. (A) 8. (C) 9. (B) 10. (C)
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